

CONVOLUTION CONDITIONS FOR q -CONVEXITY, q -STARLIKENESS AND q -SPIRALLIKENESS

HAMID SHAMSAN¹ AND S. LATHA¹, §

ABSTRACT. In the present investigation, the authors derive necessary and sufficient conditions for q -starlike, q -convex functions of order β and q -spirallike, convex q -spirallike functions using convolution.

Keywords: q -derivative, q -starlike functions, q -convex functions, q -spirallike, convolution.

AMS Subject Classification: 30C45.

1. INTRODUCTION

Convolution or Hadamard product is a powerful tool which forges links between the fundamental properties of operators and beautiful results from the classical theory of analytic functions. The Pólya-Schoenberg conjecture [4], generated a great deal of intrinsic interest in properties of convolutions. Silverman, Silvia and Telage's method described the construction of a function g_φ such that $Re\{g_\varphi(z)\} > 0$ if and only if $\frac{1}{z}(f * g_\varphi) \neq 0$. Generalizing Silverman, Silvia and Telage's results, we give characterization for q -analogue classes of convex, starlike and spirallike functions [8]. Let \mathcal{A} denote the class of functions of form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \tag{1}$$

which are analytic in the open unit disk

$$\mathcal{U} = \{z : z \in \mathbb{C} \text{ and } |z| < 1\},$$

and satisfy the normalization conditions $f(0) = f'(0) - 1 = 0$, for every $z \in \mathcal{U}$. And \mathcal{S} denote the subclass of \mathcal{A} consisting of all function which are univalent in \mathcal{U} . In view of Riemann mapping theorem, the unit disc \mathcal{U} is usually treated as a standard domain because simply connected proper subset of the complex plane are conformally equivalent to \mathcal{U} . The functions whose ranges describe certain geometries like star, close-to-star, convex, close-to-convex, spiral, some in certain directions, some uniformly, some with respect to

¹ Department of Mathematics, Yuvaraja's College, University of Mysore, Mysore 570 005, INDIA.
 e-mail: hmas19771@gmail.com; ORCID:<https://orcid.org/0000-0001-9243-5885>.
 e-mail: drlatha@gmail.com; ORCID:<https://orcid.org/0000-0002-1513-8163>.

§ Manuscript received: May 11, 2020; accepted: July 17, 2020.

TWMS Journal of Applied and Engineering Mathematics, Vol.12, No.3 © Işık University, Department of Mathematics, 2022; all rights reserved.

symmetric points and so on are known as geometric functions and these geometries can be described in succinct links between certain prescribed property of analytic functions and the geometries of their ranges. A subset \mathcal{D} of the complex plane is called q -geometric if $qz \in \mathcal{D}$ for fixed $q \in \mathbb{R}$ whenever $z \in \mathcal{D}$. For a function f , real or complex valued on a q -geometric set \mathcal{D} , $|q| \neq 1$, the q -difference operator which was introduced by Jackson [2] is defined as

$$D_q f(z) = \frac{f(z) - f(qz)}{z(1 - q)}, \quad z \in \mathcal{D} - \{0\}. \tag{2}$$

In addition, the q -derivative at zero defined for $|q| > 1$, $D_q f(0) = D_{q^{-1}} f(0)$. In some literature the q -derivative at zero is defined as $f'(0)$ if it exists.

Equivalently (2), may be written as

$$D_q f(z) = 1 + \sum_{n=2}^{\infty} [n]_q a_n z^{n-1}, \quad z \neq 0$$

where

$$[n]_q = \begin{cases} \frac{1-q^n}{1-q}, & q \neq 1 \\ n, & q = 1. \end{cases}$$

As a right inverse, Jackson [3] presented the q -integral of a function f as

$$\int_0^z f(t) d_q t = z(1 - q) \sum_{n=0}^{\infty} q^n f(zq^n),$$

provided that the series converges. Under the hypothesis of the definition of q -difference operator, we have the following rules.

- (i) $D_q(af(z) \pm bg(z)) = aD_q f(z) \pm bD_q g(z)$, where a and b any real (or complex) constants
- (ii) $D_q(f(z)g(z)) = f(qz)D_q g(z) + D_q f(z)g(z) = f(z)D_q g(z) + D_q f(z)g(qz)$
- (iii) $D_q \left(\frac{f(z)}{g(z)} \right) = \frac{g(z)D_q f(z) - f(z)D_q g(z)}{g(qz)g(z)}$.

For $0 < q < 1$, we define the class $S_q^*(\beta)$ of q -starlike functions and the class $C_q(\beta)$ of q -convex functions of order β ($0 \leq \beta < 1$) (see, [1], [7]), as below:

Definition 1.1. A function $f(z) \in \mathcal{A}$ is said to be q -starlike of order β , $0 \leq \beta < 1$, if and only if

$$Re \left\{ \frac{zD_q f(z)}{f(z)} \right\} > \beta, \quad \text{for all } z \in \mathcal{U}.$$

We denote by $S_q^*(\beta)$ the subclass of \mathcal{A} consisting of all q -starlike functions of order β in the unit disk \mathcal{U} .

Definition 1.2. A function $f(z) \in \mathcal{A}$ is said to be q -convex of order β , $0 \leq \beta < 1$, if and only if

$$Re \left\{ \frac{D_q(zD_q f(z))}{D_q f(z)} \right\} > \beta, \quad \text{for all } z \in \mathcal{U}.$$

We denote by $C_q(\beta)$ the subclass of \mathcal{A} consisting of all q -convex functions of order β in the unit disk \mathcal{U} .

Definition 1.3. The convolution or Hadamard product, of two analytic functions

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (|z| < R_1) \quad \text{and} \quad g(z) = z + \sum_{n=2}^{\infty} b_n z^n, \quad (|z| < R_2),$$

is defined as the power series

$$(f * g)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n, \quad |z| < R_1 R_2.$$

It can be easily seen that

$$zD_q f * g = f * zD_q g. \tag{3}$$

2. MAIN RESULTS

Theorem 2.1. *The function $f \in C_q(\beta)$ in $|z| < R \leq 1$ if and only if*

$$\frac{1}{z} \left[f * \frac{z + \left(\frac{[2]_q(x+2\beta-1)}{2-2\beta} + 1 \right) qz^2 + \frac{(1+q-[2]_q)(x+2\beta-1)}{2-2\beta} qz^3}{(1-z)(1-qz)(1-q^2z)} \right] \neq 0.$$

Proof. The function $f \in C_q(\beta)$ if and only if

$$Re \left\{ \frac{D_q(zD_q f(z))}{D_q f(z)} \right\} > \beta, \quad \text{for all } z \in \mathcal{U}. \tag{4}$$

Since $\frac{D_q(zD_q f)}{D_q f} = 1$ at $z = 0$, so (7) is equivalent to

$$\frac{\frac{D_q(zD_q f)}{D_q f} - \beta}{1 - \beta} \neq \frac{x - 1}{x + 1}, \quad (|z| < R, |x| = 1, x \neq -1)$$

which implies

$$(1 + x)D_q(zD_q f) + (1 - 2\beta - x)D_q f \neq 0. \tag{5}$$

Setting $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$, we have

$$D_q f = 1 + \sum_{n=2}^{\infty} [n]_q a_n z^{n-1}$$

$$D_q(zD_q f) = 1 + \sum_{n=2}^{\infty} [n]_q^2 a_n z^{n-1} = D_q f * \frac{1}{(1-z)(1-qz)}.$$

The left hand side of (5) is equivalent to

$$\begin{aligned} (1+x) \left[D_q f * \sum_{n=1}^{\infty} [n]_q z^{n-1} \right] + D_q f * \sum_{n=1}^{\infty} (1-2\beta-x) z^{n-1} \\ = D_q f * \sum_{n=1}^{\infty} [(1-2\beta-x) + (1+x)[n]_q] z^{n-1} \\ = D_q f * \left(\frac{1-2\beta-x}{1-z} + \frac{1+x}{(1-z)(1-qz)} \right) \\ = D_q f * \left(\frac{(2-2\beta) + (x+2\beta-1)qz}{(1-z)(1-qz)} \right). \end{aligned}$$

Thus

$$\frac{1}{z} \left[zD_q f * \frac{z + \frac{x+2\beta-1}{2-2\beta} qz^2}{(1-z)(1-qz)} \right] \neq 0. \tag{6}$$

By using (3), we can write (6) as

$$\frac{1}{z} \left[f * \frac{z + \left(\frac{[2]_q(x+2\beta-1)}{2-2\beta} + 1 \right) qz^2 + \frac{(1+q-[2]_q)(x+2\beta-1)}{2-2\beta} qz^3}{(1-z)(1-qz)(1-q^2z)} \right] \neq 0,$$

which completes the proof. □

As $q \rightarrow 1^-$, we have following result proved by Silverman and et al. in [8].

Corollary 2.1. *The function $f \in C(\beta)$ in $|z| < R \leq 1$ if and only if*

$$\frac{1}{z} \left[f * \frac{z + \frac{x+\beta}{1-\beta} z^2}{(1-z)^3} \right] \neq 0.$$

As $q \rightarrow 1^-$ and $\beta = 0$, we have following result proved by Ruschewyh in [6].

Corollary 2.2. *The function $f \in C$ in $|z| < R \leq 1$ if and only if*

$$\frac{1}{z} \left[f * z \frac{1-xz}{(1-z)^3} \right] \neq 0.$$

Theorem 2.2. *The function $f \in S_q^*(\beta)$ in $|z| < R \leq 1$ if and only if*

$$\frac{1}{z} \left[f * \frac{z + \frac{x+2\beta-1}{2-2\beta} qz^2}{(1-z)(1-qz)} \right] \neq 0, \quad (|z| < R, |x| = 1).$$

Proof. Since f is q -starlike of order β if and only if $g(z) = \int_0^z \frac{f(\zeta)}{\zeta} d_q \zeta$ is q -convex of order β , we have

$$\frac{1}{z} \left[g * \frac{z + \left(\frac{[2]_q(x+2\beta-1)}{2-2\beta} + 1 \right) qz^2 + \frac{(1+q-[2]_q)(x+2\beta-1)}{2-2\beta} qz^3}{(1-z)(1-qz)(1-q^2z)} \right] = \frac{1}{z} \left[f * \frac{z + \frac{x+2\beta-1}{2-2\beta} qz^2}{(1-z)(1-qz)} \right].$$

Thus the result follows from Theorem 2.1. □

As $q \rightarrow 1^-$, we have following result proved by Silverman and et al. in [8].

Corollary 2.3. *The function $f \in S^*(\beta)$ in $|z| < R \leq 1$ if and only if*

$$\frac{1}{z} \left[g * \frac{z + \frac{x+\beta}{1-\beta} z^2}{(1-z)^3} \right] = \frac{1}{z} \left[f * \frac{z + \frac{x+2\beta-1}{2-2\beta} z^2}{(1-z)^2} \right].$$

As $q \rightarrow 1^-$, and $\beta = \frac{1}{2}$ we have following result proved by Ruschewyh in [6].

Corollary 2.4. *The function $f \in S^*(\frac{1}{2})$ in $|z| < R \leq 1$ if and only if*

$$\frac{1}{z} \left[g * \frac{z + (2x+1)z^2}{(1-z)^3} \right] = \frac{1}{z} \left[f * \frac{z + xz^2}{(1-z)^2} \right].$$

Now by using the concept of q -derivative we define the classes of q -spirallike and convex q -spirallike functions as the following

Definition 2.1. *A function $f \in \mathcal{A}$ is said to be q -spirallike if and only if*

$$Re \left\{ e^{i\lambda} z \frac{D_q f(z)}{f(z)} \right\} > 0, \quad |z| < R \leq 1, \quad \lambda \text{ real with } |\lambda| < \frac{\pi}{2}.$$

Definition 2.2. A function $f \in \mathcal{A}$ is said to be convex q -spirallike if and only if

$$\operatorname{Re} \left\{ e^{i\lambda} \left(\frac{D_q(zD_q f(z))}{D_q f(z)} \right) \right\} > 0, \quad |z| < R \leq 1, \quad \lambda \text{ real with } |\lambda| < \frac{\pi}{2}.$$

Theorem 2.3. For $|z| < R \leq 1$, λ real with $|\lambda| < \frac{\pi}{2}$ and $|x| = 1$, we have

$$\operatorname{Re} \left\{ e^{i\lambda} \left(\frac{D_q(zD_q f(z))}{D_q f(z)} \right) \right\} > 0$$

if and only if

$$\frac{1}{z} \left[f * \frac{z + \left(\frac{[2]_q(x-e^{-2i\lambda})}{1+e^{-2i\lambda}} + 1 \right) qz^2 + \frac{(1-q)(x-e^{-2i\lambda})}{1+e^{-2i\lambda}} qz^3}{(1-z)(1-qz)(1-q^2z)} \right] \neq 0.$$

Proof. We have, $\operatorname{Re} \left\{ e^{i\lambda} \left(\frac{D_q(zD_q f(z))}{D_q f(z)} \right) \right\} > 0$ if and only if

$$\frac{e^{i\lambda} \frac{D_q(zD_q f)}{D_q f} - i \sin \lambda}{\cos \lambda} \neq \frac{x-1}{x+1}, \quad (|z| < R, \quad |x| = 1, \quad x \neq -1)$$

which implies

$$(1+x)D_q(zD_q f) + (e^{-2i\lambda} - x)D_q f \neq 0. \quad (7)$$

Setting $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$, we have

$$D_q(zD_q f) = 1 + \sum_{n=2}^{\infty} [n]_q^2 a_n z^{n-1} = D_q f * \frac{1}{(1-z)(1-qz)}.$$

The left hand side of (7) is equivalent to

$$\begin{aligned} (1+x) \left[D_q f * \sum_{n=1}^{\infty} [n]_q z^{n-1} \right] + D_q f * \sum_{n=1}^{\infty} (e^{-2i\lambda} - x) z^{n-1} \\ = D_q f * \sum_{n=1}^{\infty} \left[(e^{-2i\lambda} - x) + (1+x)[n]_q \right] z^{n-1} \\ = D_q f * \left(\frac{e^{-2i\lambda} - x}{1-z} + \frac{1+x}{(1-z)(1-qz)} \right) \\ = D_q f * \left(\frac{(1+e^{-2i\lambda}) + (x-e^{-2i\lambda})qz}{(1-z)(1-qz)} \right). \end{aligned}$$

Thus

$$\frac{1}{z} \left[z D_q f * \frac{z + \frac{x-e^{-2i\lambda}}{1+e^{-2i\lambda}} qz^2}{(1-z)(1-qz)} \right] \neq 0. \quad (8)$$

By using (3), we can write (8) as

$$\frac{1}{z} \left[f * \frac{z + \left(\frac{[2]_q(x-e^{-2i\lambda})}{1+e^{-2i\lambda}} + 1 \right) qz^2 + \frac{(1-q)(x-e^{-2i\lambda})}{1+e^{-2i\lambda}} qz^3}{(1-z)(1-qz)(1-q^2z)} \right] \neq 0,$$

which completes the proof. \square

As $q \rightarrow 1^-$, we have following result proved by Silverman and et al. in [8].

Corollary 2.5. For $|z| < R \leq 1$, λ real with $|\lambda| < \frac{\pi}{2}$ and $|x| = 1$, we have

$$\operatorname{Re} \left\{ e^{i\lambda} \left(\frac{(zf'(z))'}{f'(z)} \right) \right\} > 0$$

if and only if

$$\frac{1}{z} \left[f * \frac{z + \frac{2x+1-e^{-2i\lambda}}{1+e^{-2i\lambda}}z^2}{(1-z)^3} \right] \neq 0.$$

Theorem 2.4. For $|z| < R \leq 1$, λ real with $|\lambda| < \frac{\pi}{2}$ and $|x| = 1$, we have

$$\operatorname{Re} \left\{ e^{i\lambda} \frac{zD_q f(z)}{f(z)} \right\} > 0$$

if and only if

$$\frac{1}{z} \left[f * \frac{z + \frac{x-e^{-2i\lambda}}{1+e^{-2i\lambda}}qz^2}{(1-z)(1-qz)} \right] \neq 0.$$

Proof. The result follows from Theorem 2.3 in the same manner that Theorem 2.2 followed from Theorem 2.1. □

As $q \rightarrow 1^-$, we have following result proved by Silverman and et al. in [8].

Corollary 2.6. For $|z| < R \leq 1$, λ real with $|\lambda| < \frac{\pi}{2}$ and $|x| = 1$, we have

$$\operatorname{Re} \left\{ e^{i\lambda} \frac{zf'(z)}{f(z)} \right\} > 0$$

if and only if

$$\frac{1}{z} \left[f * \frac{z + \frac{x-e^{-2i\lambda}}{1+e^{-2i\lambda}}z^2}{(1-z)^2} \right] \neq 0.$$

Acknowledgement We would like to thank the anonymous referee(s) for their careful reading and constructive suggestions for the improvement in the first draft of this paper.

REFERENCES

- [1] Ismail, M. E. H., Merkes, E. and Steyr, D., (1990), A generalization of starlike functions, *Complex Variables Theory Appl.*, 14, pp. 77-84.
- [2] Jackson, F. H., (1909), On q -functions and a certain difference operator, *Trans. Royal Soc. Edinburgh*, 46, pp. 253-281.
- [3] Jackson, F. H., (1910), On q -definite integrals, *Quarterly J. Pure Appl. Math.*, 41, pp. 193-203.
- [4] Pólya, George, and Isaac J. Schoenberg, (1958), Remarks on de la Vallée Poussin means and convex conformal maps of the circle, *Pacific J. Math.*, 8, (2), pp. 295-334.
- [5] Ruscheweyh, St., Shell-Small, T., (1973), Hadamard products of schlicht functions and the Pólya-Schoenberg conjecture, *Comment. Math. Helv.*, 48, pp. 119-135.
- [6] Ruscheweyh, St., (1977), Linear operators between classes of prestarlike functions, *Comment. Math. Helv.*, 52, pp. 497-509.
- [7] Seoudy, T. M. and Aouf, M. K., (2014), Convolution properties for certain classes of analytic functions defined by q -derivative operator, *Abstr. Appl. Anal.*, pp. 1-7.
- [8] Silverman Herb, Evelyn Marie Silvia and Donald Telage, (1978), Convolution conditions for convexity, starlikeness and spiral-likeness, *Mathematische Zeitschrift*, 162, (2), pp. 125-130.
- [9] Suffridge, T. J., (1976), Starlike functions as limits of polynomials, In: *Advances in complex function theory. Lecture Notes in Mathematics*, Berlin-Heidelberg-New York: Springer, 505, pp. 164-202.

H. Shamsan for the photography and short autobiography, see TWMS J. App. and Eng. Math. V.11, N.4.

S. Latha for the photography and short autobiography, see TWMS J. App. and Eng. Math. V.11, N.4.
